Ganzrationale Funktionen: Nullstellen
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Losungen

f(x)=2x"-2x"-16x" +4x+24

N1(-210); N2(310); N3(1,41 1 0); N4(-1,411 0)

g(x)=-3x"-3x> —9x* —9x

h(x)=x*=3x" —=7x> +15x+18

j(x)=4x" +4x° 2457
k(x)=3x"—-48

1(x)=10x* —10x> - 60

f(x)=3x"-21
g(x)=-5x"—18
h(x)=5x°+24
i(x)=2x" -6
j(x)=7x>-35
k(x)=2x"*+4x>-35
I(x)==3x"-21x*-36
m(x)=4x" —42x*> -80

n(x)=—4x°—-8x>+96

N1(01 0); N»(-11 0)

N1(-110); N2(-21 0); N33 10)
i(x)=x"+8x’ +24x* +32x+16

Ni(-210)

N1(-31 0); N2(21 0)

Ni(-21 0); N2(21 0)

N1(-210); N»(21 0)

Ni1(1,63 1 0); N2(-1,63 1 0)

N(-1,5310)

keine Nullstelle

N@1,2510)

N1(2,24 1 0); N2(-2,24 1 0)

Ni(-1,8210); N»(1,82 1 0)

keine Nullstelle

N1(-3,491 0); N»(3,491 0)

N1(1,59 10); N»(-1,821 0)



